[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015

-+

-

P

"'-'-!-'H-‘-?—'—"' |III!IIIIPIIIIIIII!IIII!IIII!IIIIIIIII!IIII!IIII

\
o 0
T 4 + +
¥ 1.05 1T Hd & 4171
i
. . r .
1H-+-4+F -+ ++ - LG e ARG k2 N
0.95 AT

107 1

=
2
N

10 0?
TP vertr (cr%)

—— DQM_TT__CKF_ORIG

Efficiend —— DQM_TT_CKFandPLess ORIG
ICleNd __,__ pQM_TT__CKFandPLess_MODIF

N~ 0.p :
ST N R R R R
o E : : : : :
>0.08f - AR L oo
> Hi . . . . .

8 F H . H . .
GO0t
o E : : : :

E0.06ff " (R SR A pree
© : : : : :

I s S e

...............................

............................

-10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01

0.005

o AOEE

IS E : :
& 1.05F----5o-f b A
R g A U G
051510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


